
F51007 (09-20)

VACM61KS- Vulcan:Accessory Mini 6 GN1/1 Combi Stacked Kit

VACM61KS

Start Prod 01/09/2019 End Prod 

Legend :
Spare Part
Recommended Part
Wearing Part

 VIEW 10 : Kit assembly 

serial number start : serial number end :

Start Date : 01-09-2019 End Date : 00-00-0000

CODE NAME COMENTS CAT
387480 Feet for stacked ovens A partir du 01/04/2019 hauteur pietement 350mm et suppression

de la tablette
148829 Vent outlet box sub assembly
318387 Y 25.4mm diameter
316181 Silicone tube 25 x 32 dia. 60SH
148830 Offset vent tube sub assembly
061736M Stacking kit crossbar
389651 A2 stainless TBBCR M4 x 12 screws
389651 A2 stainless TBBCR M4 x 12 screws
388500 Stainless screw TH M10 x 60
388099 M10 stainless steel flat washer
366639 Chimney tube seal
061734N Stacking kit facia Vulcan
061735N Stacking kit rail Vulcan
061569M Protective cover of vents

10/09/2020 - 1/1


